- Spare Catalogues About Support Freedom
‘i Ralco Europa  parts us to &3 English ~

Choose

Searching for Compressor: HOWDEN.

Articles found : 425

Ralco P/N Description Compressor

BLTGMO19 SET BOLT + NUT +WASHER + PIN
DISCHARGE VALVE FIT HASEGAWA HOWDEN
*VYM* 121102-S

BLTSWO0110030 TORNILLO FIT *WRVI-365* / LONG
SET SCREW M10X30 BEARING HOWDEN
RETAINING PLATE REF-M0110030

BLTSWO0112025 TORNILLO FIT *WRVI-255* / LONG
CAP SCREW M20X25 VI SCREW STOP HOWDEN
PLATE REF-M0112025

BLTSWO0116040 TORNILLO FIT *WRVI-321* / LONG
SET SCREW M16X40 VI SCREW STOP  HOWDEN
PLATE REF-M0116040

BLTSWO0116050 TORNILLO FIT *WRVI-255* / LONG
CAP SCREW M16X50 BEARING HOWDEN
RETAINING HOUSING REF-M0116050

BLTSWO0116060 TORNILLO FIT *WRVI-255* / LONG
CAP SCREW M16X60 THRUSTING HOWDEN
HOUSING REF-M0116060

BLTSWO0116070 TORNILLO FIT *WRV-255* / LONG SET
SCREW M16X70 INLET AND OULET HOWDEN
CASINGS REF-M0116070

BLTSW0120060 TORNILLO FIT *WRVI-365* / LONG
SET SCREW M20X60 BEARING HOWDEN
RETAINING PLATE REF-M0120060

BLTSWO0120070 TORNILLO FIT *WRVI-365* / LONG
SET SCREW M20X70 THRUSTING HOWDEN
HOUSING REF-M0120070

BLTSWO0124100 TORNILLO FIT *WRVI-365* / LONG
SET SCREW M16X100 INLET AND HOWDEN
OUTLET CASINGS REF-M0124100


https://www.ralcoeuropa.eu/en/menu.php
https://www.ralcoeuropa.eu/en/spare_parts.php
https://www.ralcoeuropa.eu/en/catalogues.php
https://www.ralcoeuropa.eu/en/about_us.php
https://www.ralcoeuropa.eu/en/support.php
https://www.ralcoeuropa.eu/en/freedom_to_choose.php
https://wa.me/34631409909?text=Hello,
https://www.ralcoeuropa.eu/en/login.php
https://www.ralcoeuropa.eu/en/articles_open_print_pdf.php

Ralco P/N

BLTSW0212035

BLTSW0212045

BLTSW0216035

BLTSW0216040

BLTSW0216045

BLTSW0216050

BLTSW0216060

BLTSW0313050

BLTSW0316060

BLTSW0324080

BLTSW21015

Description

SEARCH BLTA12X035 - TORNILLO FIT
*WRV-255* / LONG CAPSCREW
M12X35 VI HOUSING & ROTOR
COVER REF-M0122035

TONILLO FIT *WRV-255* / LONG
CAPSCREW M12X45 CYLINDER TO
OULET COVER REF-M0122045

SEARCH BLTA16X035 TORNILLO FIT
*WRVI-255* / LONG CAP SCREW
M16X35 VI HOUSING TO INLET REF-
M0216035

TORNILLO FIT *WRVI-321* / LONG
CAP SCREW M16X40 VI HOUSING
INLET REF-M0216040

TORNILLO FIT *WRVI-365* / LONG
CAP SCREW M16X45 VI HOUSING TO
INLET, CYLINDER END COVER REF-
M0216045

TORNILLO FIT *WRV-163+204* /
LONG CAP SCREW M12X60
CYLINDER TO OUTLET COVER REF-
M0216050

TORNILLO FIT *WRVI-365* / LONG
SET CREW M16X60 PISTON SEAL
RETIANING PLATE, ROTOR COVERS
REF-M0216060

TORNILLO FIT *WRV-163* / LONG SET
CAPSCREW 1/2" X 2" INLET AND
OULET CASINGS REF-M0313050

LONG SET SCREW M16X60 MM FIT
*WRV-204* INLET AND OUTLET
CASINGS REF-M0316060

TORNILLO FIT *WRVI-321* / LONG
CAP SCREW M24X80 END CASINGS
TO MAIN CASINGS REF-M0324080

TORNILLO FIT *WRV-163+255* /
LONG SET SCREW UNC 5/8" X 2"

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

BLTSW21026

BLTSW21030

BLTSW21032

BLTSW21036

BLTSW21037

BLTSW21039

BLTSW21047

BLTSW22006

BLTSW22009

BLTSW22014

SUPERFEED BLANK PLATE REF-
G21015

TORNILLO AMARRE CAJERAS FIT
*WRV-255+321+1255* / LONG SET
SCREW UNC 3/8"X 1" THRUST
RETAINING PLATE REF-G21026

TORNILLO FIT *WRV* / LONG SET
SCREW UNC 1/4" X 5/8" PISTON
RETAINING PLATE REF-G21030

TORNILLO FIT *WRV-255* /LONG SET
SCREW UNC 1/2"X1-1/4" GUIDE
GRACKET REF-G21032

TORNILLO FIT *WRV* / LONG SET
SCREW UNC 1/2" X 2" INLET AND
OUTLET CASTING, TRUSTING
HOUSING REF-G21036

TORNILLO FIT *WRV* / LONG SET
SCREW UNC 1/2" X 1-1/2" PISTON
ROD GUIDE, CYLINDER COVER REF-
G21037+G25004

TORNILLO FIT *WRV-255+1255* /
LONG SET SCREW UNC 5/8" X 1-1/2"
SUPERFEED FLANGE REF-
G21039+G25017

TORNILLO FIT *WRV-204* / LONG SET
SCREW UNC 3/4" X 1-3/4"
SUPERFEED FLANGE REF-G21047

TORNILLO FIT *WRV-321* / LONG SET
SCREW UNC 3/4"X 2" SUPERFEED
FLANGE REF-G22006

TORNILLOS FIT *WRV* /LONG BLOT
UNC 3/4"X2-1/2" TRUSTING
HOUSING REF-G22009

TORNILLOS AMARRE CAJERAS FIT
*WRV-255* /LONG CAP SCREW UNC
5/8"X2-1/4" INLET CASING OURLET
COVER, TRUSTING HOUSING REF-
G22014

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

BLTSW22018

BLTSW22019

BLTSW22035

BLTSW25011

BLTSW25013

BLTSW25024

BLTSW25025

BLTSW25029

BLTSW25030

BLTSW25044

BLTSW25049

BLTSW25058

Description

TORNILLOS FIT *WRV* /LONG BLOT
UNC 7/8"X3" MAIN JOIN REF-G22018

TORNILLOS FIT *WRVI-365* /LONG
SET SCREW UNC 3/4"X2-1/4"
SUPERFEED FLANGE REF-G22019

TORNILLO FIT *WRV-255* / LONG SET
SCREW UNC 5/8"X2-1/2" INLET
CASING OUTLET COVER REF-G22035

TORNILLO FIT *WRV* / LONG CAP
SCREW UNC 10"X5/8" LIMIT SWITCH
COVER REF-G25011

TORNILLO FIT *WRV* / LONG CAP
SCREW UNC 1/4"X3/8" SECURING
THRUST LOCKWIRE REF-G25013

TORNILLO FIT *WRV* / LONG CAP
SCREW UNC 5/16"X3/4" BEARING
RETAINING PLATE REF-G25024

TORNILLO FIT *WRV-321* / LONG
CAP SCREW UNC 5/8"X1-1/4" SHAFT
SEAL COVER, COVER ON INLET
CASING REF-G25025

TORNILLO FIT *WRV* / LONG CAP
SCREW UNC 1/2"X1-3/4" CYLINDER
REF-G25029

TORNILLO FIT *WRV* / LONG CAP
SCREW UNC 3/8"X7/8" INJECT TUBE
REF-G25030

TORNILLO FIT *WRV* / LONG CAP
SCREW UNC 7/8"X2-1/4" SUPERFEED
REF-G25044

TORNILLO FIT *WRV-204* / LONG
CAP SCREW UNC 3/8"X1-1/4" SLIDE
VALVE STOP REF-G25049+G25040

TORNILLO FIT *WRV-163+204+255* /
LONG CAP SCREW UNC 3/8"X1"
ROTOR COVER PLATES, END COVER,
SHAFT SEAL COVER REF-G25058

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

BLTSW25062

BLTSW26019

BLTSW27001

BLTSW27002

BLTSW27022

BLTSW29007

BLTSW29012

BLTSW29013

BLTSW46014
BLTSW46018

BRG75003

Description

TORNILLO FIT *WRV-163+321* /
LONG CAP SCREW 1/2" X 1" THRUST
BEARING CLAMP PLATE, 321 SLIDE
VALVE STOP REF-
G25062+G21016+G25053

SEARCH BLTA1!4X16 TORNILLO FIT
*WRV-163+204+255* / UNC 1/4"X
5/8" SET 6 TUFLOK LONG CAP SCREW
PISTON SEAL RETAINING PLATE REF-
G26019

TORNILLO FIT *WRV-204* / LONG SET
SCREW M12X40 BEARING RETAINING
PLATE REF-G27001

TORNILLO FIT *WRV-204* / LONG SET
SCREW M16X50 ACTUAROR
CYLINDER END CASINGS REF-G27002

TORNILLO FIT *WRV-204* / LONG SET
SCREW M16X69 END CASINGS MAIN
CASING REF-G27022

TORNILLO FIT *WRV-204* / SOCKET
HEAD CAP SCREW M10X30 ROTOR
COVER PLATES, SHAFT SEAL AND
SHAFT COVERS REF-G29007

SEARCH BLTMBO025 - TORNILLO FIT
*WRV-163+204* / SOCKET HEAD CAP
SCREW M16X40 MM CYLINDER END
COVER TO CYLINDER, THURST OUTER
RACE RETAINING PLATE REF-G29012

TORNILLO FIT *WRV-204* / SOCKET
HEAD CAP SCREW M5X16 LIMIT
SWITCH COVER REF-G29013

BOLT FIT *WRV-255* REF-G46014
BOLT FIT *WRV-255* REF-G46018

RODAMIENTO DE BOLAS DE
CONTACTO ANGULAR / ANGULAR
CONTACT BALL BEARING 7320
100X215X47 ANGULAR CONTACT
BALL BEARING 7320 DIA. 100X215X47

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN
HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

BRG75005

BRGSW163

BRGSW163050

BRGSW163050X4

BRGSW163063

BRGSW163063X

BRGSW163083

BRGSW163083X

REF-1512.003+1906 512-1+3922
1311720

RODAMIENTO DE BOLAS DE
CONTACTO ANGULAR FIT *S-89* /
ANGULAR CONTACT BALL BEARING
7320 100X215X47 ANGULAR
CONTACT BALL BEARING 7320 DIA.
100/215X47 TOLERANCE CLASS PN
REF-1512.013+1512.2005

KIT REPLACEMENT 4 JOURNAL
BEARING FIT *WRV-163-MK1+3* REF-
KWJ163#

RODAMIENTO DE BOLAS DE
CONTACT ANGULAR FIT *WRV-163* /
ANGULAR CONTACT BALL BEARING
SKF 7310 BEGAF FIT-G51081#

JUEGO DE RODAMIENTO DE BOLAS
DE CONTACT ANGULAR FIT *WRV-
163* 4 UNITS KIT REPLACEMENT
THRUST ANGULAR CONTACT BALL
BEARING SKF 7310-BEGAF REF-
KWT163#

OULET END JOURNAL BEARING FIT
*WRV-163-MK1* DISCHARGE SIDE D
=70 MM H= 85 R16063

ROUGH DESIGN - OULET END
JOURNAL BEARING FIT *WRV-163-
MK1* DISCHARGE SIDE D = MM
INTERNAL NOT FINISHED R16063

INLET END JOURNAL BEARING FIT
*WRV-163-MK1* SUCTION SIDE D =
70 MM H = 65 MM R16083

ROUG DESIGN - INLET END JOURNAL
BEARING FIT *WRV-163-MK1*
SUCTION SIDED = MM H = 65 MM
INTERNAL NOT FINISHED R16083

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

BRGSW20204

BRGSW204000

BRGSW204001

BRGSW204050

BRGSW204050H

BRGSW204050M

BRGSW204050X4

BRGSW204103

Description

CASQUILLO TEFLON VALVULA
INYECCION FIT *WRV-204+255* /
PTFE SLEEVE OIL INJECTION TUBE
28.7X38.7X28.2 REF-R20204

JUEGO 4 COJINETES METAL BLANCO
FIT *WRV-204-MK-2+3+4*/ KIT 4
JOURNAL BEARING FIT *WRV-204-
MK2+3+4* 2 MALE & 2 FEMALE 2 X
20103+20123+20143 D = 90 MM#
R20103+R20123+R20143

JUEGO 4 COJINETES METAL BLANCO
FIT *WRV-204-MK-5+6*/ KIT 4
JOURNAL BEARING 2 MALE R-20242
& 2 FEMALE R-20232 D = 90 MM#
REF-R20232+R20242

RODAMIENTO DE BOLAS FIT *WRV-
204 + GRASSO SCREW
R/S*/ANGULAR CONTACT BALL
BEARING SKF 7313 BEGAF 65X140X33
REF-G51034 +
510398108+1512.2001+1512.009 +
1513.022 + 1513.043 + 1894 776-1 +
1905 713-1#

RODAMIENTO HEMBRA FIT *WRV-
204-MK6* / FEMALE THRUST
BEARING WITHDRAWAL PLATE REF-
R20542

RODAMIENTO MACHO FIT *WRV-
204-MK6* / MALE THRUST BEARING
WITHDRAWAL PLATE REF-R20262

JUEGO DE RODAMIENTO DE BOLAS
DE CONTACT ANGULAR FIT *WRV-
204* / SERVICE KIT 4 UNITS
REPLACEMENT THRUST ANGULAR
CONTACT BALL BEARINGS 7313
BEGAF REF-KWT204#

INLET END JOURNAL BEARING FIT
*WRV-204-MK2+3+4* MALE &

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

BRGSW204123

BRGSW204143

BRGSW204232

BRGSW204242

BRGSW204MK234

BRGSW204MK5_6

BRGSW255050

BRGSW255050X4

BRGSW255643

FEMALE D = 90 MM SUCTION SIDE
R20103 + 0215036

MALE OULET END JOURNAL BEARING
FIT *\WRV-204-MK2+3+4* D = 90 MM
DISCHARGE SIDE R20123 + 0215037

FEMALE OULET END JOURNAL
BEARING FIT *WRV-204-MK2+3+4* D
= 90 MM DISCHARGE SIDE R20143 +
0215038

COJINETE LADO TAPA FIT *WRV-204-
MK5+6* / INLET END JOURNAL
BEARING 90X70.85 MM R20232

COJINETE LADO BLOQUE FIT *WRV-
204-MK5+6* / OULET END JOURNAL
BEARING 90X106.84 MM R20242

KIT REPLACEMENT 4 JOURNAL
BEARING - MALE & FEMALE FIT
*WRV-204-MK2+3+4* REF-KWJ204-
2/3/4

KIT REPLACEMENT 4 JOURNAL
BEARINGS - MALE & FEMALE FIT
*WRV-204-MK5+6* REF-KWJ204-5/6*

RODAMIENTO DE BOLAS DE
CONTACT ANGULAR FIT *WRV-
255+5-70+80 +GRASSO SCREW V-
W-Y-R-S UNTIL S/N 1000* /
ANGULAR CONTACT BALL TRUST
BEARING SKF 7317 BEGAF
1513.057+G51035 + KWT-255
+0215032 + 510498006#

JUEGO DE RODAMIENTO DE BOLAS
DE CONTACT ANGULAR FIT *WRV-
255* /KIT REPLACEMENT 4 UNITS
TRHUST ANGULAR CONTACT BALL
BEARING SKF 7317 REF-KWT255#

COJINETE APOYO LADO DESCARGA
MACHO + HEMBRA FIT *WRV-255-

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

BRGSW255663

BRGSW255MK6X4

BRGSW321

BRGSW321050

BRGSW321050X4

BRGSW321063

BRGSW321083

BRGSW365

BRGSW365050X4

BRGSW365086

MK5+6* / OULET END JOURNAL
BEARING R25643

COJINETE APOYO LADO ASPIRACION
MACHO + HEMBRA FIT *WRV-255-
MK5+6* / INLET END JOURNAL
BEARING R25663

KIT REPLACEMENT 4 JOURNAL
BEARINGS FIT *WRV-255* KWJ-255 +
0215032#

KIT REPLACEMENT 4 JOURNAL
BEARINGS - MALE & FEMALE FIT
*WRV-321* REF-KWJ321

RODAMIENTO DE BOLAS DE
CONTACT ANGULAR FIT *WRV-
321+365* / ANGULAR CONTACT BALL
BEARING SKF 7320 BEGAF REF-
G51063

JUEGO DE RODAMIENTO DE BOLAS
DE CONTACT ANGULAR FIT *WRX-
321+365*/KIT REPLACEMENT 4
THRUST ANGULAR CONTACT BALL
BEARING SKF 7320-BEGAF REF-
KWT321+KWT365

INLET END JOURNAL BEARING FIT
*WRV-321-MK5+6* REF-R32063

OULET END JOURNAL BEARING FIT
*WRV-321-MK5+6* REF-R32083

KIT REPLACEMENT 4 JOURNAL
BEARINGS - MALE & FEMALE FIT
*WRV-365* REF-KWJ365

SEARCH BRGSW321050X4 KIT
REPLACEMENT 4 THRUST ANGULAR
CONTACT BALL BEARING SKF 7320-
BEGAF FIT *WRX-365* REF-KWT365

INLET END JOURNAL BEARING FIT
*WRV-365-MK1* REF-VR36086-2

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

BRGSW365088

BRGSW51001

BRGSWXO00

BRGSWX050

BRGSWX127

BRGSWX163

BRGSX204MK1_4

CARSW163

CARSW204

CARSW255

CKSGMO042

COVSW25614

COVSW25674

OULET END JOURNAL BEARING FIT
*WRV-365-MK1* REF-VR36088-2

BALL BEARING ACTUATOR SPINDLE
FIT *WRV-204+255+321* 6301 REF-
G51001

OUTLET END FLOATING BUSH FIT
HOWDEN *XRV-204* REF-XR20042-2

CYLINDRICAL ROLLER BEARING FIT
HOWDEN *XRV-204* REF-XR20910-3

JUEGO DE COJINETES HOWDEN FIT
*XRV-127*

OUTLET END FLOATING BUSH FIT
HOWDEN *XRV-163* REF-XR16029-2

KIT RODAMIENTOS FIT HOWDEN
*XRV-204-KM1+4 XR20520-4 +
XR20823-3

ROTATIVA COMPLETA CARBURO DE
SILICIO FIT HOWDEN *WRV-163* /
ROTARY PART SILICIUM CARBIDE 50.8
MM 2"

ROTATIVA COMPLETA CARBURO DE
SILICIO FIT HOWDEN *WRV-204* /
ROTARY PART SILICIUM CARBIDE
60.32 MM 2-3/8"

ROTATIVA COMPLETA CARBURO DE
SILICIO FIT HOWDEN *WRV-255* /
ROTARY PART SILICIUM CARBIDE
73.03 MM 2-7/8"

CRANKSHAFT RECONDITIONED
HASEGAWA FIT *VM-42* NO P/N

TAPA CAJERA ROTOR HEMBRA FIT
*WRV-255* REF-R25614

TAPA CAJERA ROTOR MACHO FIT
*WRV-255* REF-R25674

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

Description

Compressor

DWL365088

DWTSW255MK6

DWTSW33001

DWTSW33002

DWTSW33003

DWTSW33004

DWTSW33005

DWTSW33006

DWTSW33007

SPRING PIN FOR JOURNAL BEARING
KIT FIT *WRV-365* REF-G36088-2

SERVICE SET BONDED SEAL - DOWTY
RING FIT *WRV-255MK6* / REF-
VR25500-BK

SEARCH DWT70427- BONDED SEAL -
DOWTY RING FIT *WRV-
163+204+255+321*/ 23.8X17.28X2
3/8" BSP NR023 C REF-G33001

SEARCH DWT75430 - BONDED SEAL -
DOWTY RING FIT *WRV-
163+204+255+321*
/28.58X21.54X2.5 1/2" BSP NR025 D
REF-G33002+1331.429

SEARCH DWT70433 - BONDED SEAL -
DOWTY RING FIT *WRV-
163+204+255+321*%/
34.93X27.05X2.5 3/4" BSP NR0O27 F
REF-G33003

SEARCH DWT70437 - BONDED SEAL -
DOWTY RING FIT *WRV-
163+204+255+321* /42.8X33.89X2.5
1" BSP NR031 HH REF-G33004

SEARCH DWT75403 - BONDED SEAL -
DOWTY RING FIT *WRV-255+321* /
52.38X42.93X3.25 1-1/4" BSP NR032 J
REF-G33005

SEARCH DWT75444 BONDED SEAL -
DOWTY RING FIT *WRV-321* /
59.6X48.44X3.25 1-1/2" BSP NR0O33 K
REF-G33006

SEARCH DWTA2 BONDED SEAL -
DOWTY RING FIT *WRV-321* /
73.03X60.58X3.25 2" BSP NR036 M
REF-G33007+1331.401

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N Description Compressor

DWTSW33008 SEARCH DWT75428 - BONDED SEAL -
DOWTY RING FIT *WRV-
163+204+255* / 21X14X2 1/4" BSP
NRO21 B REF-G33008

HOWDEN

DWTSW33010 SEARCH DWT75426 BONDED SEAL -
DOWTY RING FIT *WRV-
163+204+255* /15.88X10.37X2 1/8"
BSP NR020 A REF-G33010

HOWDEN

FLRSWO000 135X68X395X12 OIL FILTER SCREW HOWDEN

FLRSWO0O01 250X178X600X12 OIL FILTER SCREW

HOWDEN
NO PART NUMBER

FLRSWO002 92X64X225X25 FILTRO ACEITE MOD.
FD-45-P10A / OIL FILTER 10 MICRON
HOWDEN XRV-127-MK1 REF: SBE-
10900022

HOWDEN

FLRSWO003 92X64X225X25 FILTRO ACEITE MOD.
FD-45-P20A / OIL FILTER 20 MICRON  HOWDEN
HOWDEN XRV-127-MK1

FLRSWO030 OIL FILTER TO FIT HOWDEN *XRV* 1

HOWDEN
MICRA REF: AO30/ 30-2-NH3

FLRSW110 155X70X565XM10 ELEMENTO FILTRO
ACEITE FIT HOWDEN *WRVI-255 110
/ OIL FILTER ELEMENT FOR
AMMONIA SCREW REF-

HOWDEN

FLRSW127 83 X 48 X 255 FILTRO ACEITE MOD
P174297 / OIL FILTER HOWDEN XRV- HOWDEN
127

FLRSW145 115X58X388XM10 ELEMENTO FILTRO
ACEITE FIT HOWDEN *WRV-204 145 /
OIL FILTER ELEMENT FOR AMMONIA
SCREW REF-

HOWDEN

FLRSW204 106X64X260 FILTRO ACEITE PARKER
FIT HOWDEN *WRV-204-165.50*
MALLA METALICA / OIL FILTER REF-
937815

HOWDEN

FLRSW204MK6 78X40X395X0 FILTRO ACEITE FIT HOWDEN
HOWDEN *WRV-204-MKo6* / OIL



Ralco P/N

Description

Compressor

FLRSW204X

FLRSW515

FLRSW620

FLRSW945

GKTSW20044

GKTSW20493

GKTSW25154

GKTSW32134

GKTSW55012

GKTSW55015

FILTER 1 SIDE CLOSE JO9CPO19 +
WXD400725AV+307254

106X72X9.5X260 FILTRO ACEITE
PARKER FIT HOWDEN *WRV-204 /
OIL FILTER REF-938694

140X82X47X140X0 FILTRO ACEITE
HOWDEN 1 LADO CERRADO / OIL
FILTER ONE SIDE CLOSED REF-
PI8515DRG100

ELEMENTO FILTRO ACEITE FIT
HOWDEN *WRVI-204 193 / OIL
FILTER ELEMENT MFA24/4 HTNX-
21/21N.S REF-K620AANH3

90 X 41 X 127 FILTRO ACEITE FIT
HOWDEN *WRV-204 MK6 / OIL
FILTER REF-99.A06443G25-JH0-0-N +
SH67945

FULL FACE GASKET SUPERFEED FIT
*WRV-163+204-MK-2+3+4* DN 40
REF-R20044

GASKET SUPERFEED JOINT FIT *WRV-
204 + 255* REF-R20493

FULL FACE GASKET SUPERFEED PIPE
STYLE FIT *WRV-255* 4 HOLES REF-
R25154

GASKET SUPERFEED 132/165 REF-
WRV-321* REF-R32134

GASKET SUPERFEED CAST STYLE FIT
*WRV-255* 8 HOLES REF-G55012

JUNTA GRIFO ASPIRACION +
DESCARGA FIT *WRV-
204/1.65+165/1.10+165/1.62+2.20 */

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

Description

Compressor

GKTSW55017

GKTSW55028

GKTSW55074

GKTSW55075

GKTSW55101

GUDGMO10

KITSC163MKT

KITSW20101

KITSW204MK5 +6

KITSW25101

GASKET SUCTION & DISCHARGE
PORT D = 200 MM - 8" REF-G55015

JUNTA GRIFO ASPIRACION +
DESCARGA FIT *WRV-
204/1.10+255/1.10* / GASKET
SUCTION & DISCHARGE PORT D =
150 MM - 6" REF-G55017

JUNTA GRIFO ASPIRACION FIT *WRV-
255-1.62+2.20 * / GASKET
DISCHARGE PORT REF-G55028

JUNTA GRIFO DESCARGA FIT *WRV-
204-1.10* / GASKET DISCHARGE
PORT D = 100 MM - 4" REF-G55074

JUNTA GRIFO ASPIRACION +
DESCARGA FIT *WRV-163+204-1.65*
/ GASKET SUCTION & DISCHARGE
PORT D = 125 MM - 3" REF-G55075

JUNTA GRIFO DESCARGA +
SUPERFEED FIT *WRV-163+321* /
GASKET DISCHARGE PORT
&SUPERFEED D = 75 MM - 3" FIT
REF-G55101

DISCHARGE VALVE GUIDE
HASEGAWA FIT *RVM* 120238

KIT ANNUAL INSPECTION - GASKETS
+ O-RINGS FIT *WCVH-163 MK1* P/N

O RING KIT ANNUAL INSPECTION FIT
*WRV-204-MK5+6* REF-R20101-
OK+R20102-OK(VITON)+R20103-
OK(VITON)

JUEGO JUNTAS TORICAS HOWDEN
FIT *WRV-204-MK5+6* / KIT O-RINGS
+ PTFE REF-R20101-OK+

SEARCH KITSW255MK4GMKS - O
RING KIT ANNUAL INSPECTION FIT
*WRV-255-MK1-4F* REF-R25101-OK

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

KITSW255MK4 +5

KITSW255MK6

KITSW255MK6V

KITSW321

KITSW321-4+5

KITSW365

KITSWX127

KITSWX127R35

KITSWX163

KITSWX204

KITSX127_3

KITSX204_3D

Description

JUEGO JUNTAS TORICAS FIT *WRV-
255-MK1-4F+4G+4E+MK5*/ KIT O
RING REF-R25101-OK

JUEGO JUNTAS TORICAS + RETENES
TEFLON FIT *WRV-255-MK6* / KIT O
RING + PTFE SEAL RING REF-
VR25101-OK+

JUEGO JUNTAS TORICAS FIT *WRVI-
255-MK6* / KIT O RING REF-
VR251020K

JUEGO JUNTAS / O RING KIT FIT
*WRV-321-COMMON* REF-
VR321010K

JUEGO JUNTAS / O RING KIT FIT
*WRV-321-MK4+5* REF-R321010K

JUEGO JUNTAS / O RING KIT FIT
*WRV-365-COMMON* REF-
VR361010K

JUEGO DE JUNTAS TORICA FIT
HOWDEN *XRV-127* / O RING KIT
REF-XR121010K

JUEGO DE JUNTAS TORICA FIT
HOWDEN *XRV-127* / O RING KIT
REF-XR121020K

JUEGO DE JUNTAS TORICA FIT
HOWDEN *XRV-163* /O RING KIT
REF-XR16101-OK

JUEGO DE JUNTAS TORICA FIT
HOWDEN *XRV-204-MK4* /O RING
KIT REF-XR20101-OK

KIT ANNUAL INSPECTION FIT
HOWDEN *XRV-127-MK3+4* R-
1+3+5 REF-KX127-3

KIT ANNUAL INSPECTION FIT

HOWDEN *XRV-204-MK1+4* KX204-

3D

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

KNRSW25594

LBRSWO000

LBRSW163

LCKKMO036

LCKKMO040

LCKSW16044

LCKSW16154

LCKSW20085

LCKSW20224

LCKSW25126

LCKSW25883

LCKSW3149

Description

CAJERA ROTOR HEMBRA FIT *WRV-
255* REFR25594

LABYRINTH INSERT FIT HOWDEN
*XRV-204* REF-XR20053-5

LABYRINTH INSERT FIT HOWDEN
*XRV-163* REF-XR16047-2

TUERCA RANULADA FIT *WRV-204* /
LOCK NUT SLIDE VALVE M36 REF-
R20313

TUERCA RANULADA FIT *WRV-
163+204+255* / LOCK NUT 40 MM
ACTUATOR PISTON REF-R25055

SEARCH LCKMBO5 ARANDELA
SEGURIDAD ESTRIADA 30 MM 13
PUAS FIT *WRV-163* / LOCKWASHER
SLIDE VALVE REF-R16044

LOCKNUT FIT *WRV-163* M42 M30
SLIDE VALVE, PISTON ROD REF-
R16154

SEARCH LCKMB10 ARANDELA
ESTRIADA SEGURIDAD 50 MM 13
PUAS FIT *WRV-204+255* / LOCK
WASHER PISTON ROD REF-
R20085+Q4521

SEARCH LCKNL14 ROTOR LOCKING
PLATE FIT *WRV-204+255* 4 HOLES
M14 REF-R20224

LOCKNUT M42 FIT *WRV-255* SLIDE
VALVE REF-VR25126-2

SEARCH LCKNL16 ROTOR LOCKING
PLATE FIT *WRV-255* 4 HOLES M16
REF-R25883

LOCKNUT M60 FIT *WRVI-321*
PISTON ROD TO SLIDE VALVE REF-
VR3149-2

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

LCKSW32115

LCKSW32135

LCKSW32255

LCKSW32434

LCKSW32555

LCKSW36148

LCKSW36149

LCKSW39006

LCKSW39007

LCKSW39009

LCKSW39010

LCKSW39013

LCKSW39017

Description

NUERCA RANULADA FIT *WRV-321*
/LOCKNUT 1-3/4" ACTUATOR PISTON
REF-R32115

LOCKWASHER ACTUATOR PISTON 1-
3/4" UNC FIT *WRV-321* REF-R32135

LOCK WASHER 60 MM FIT *WRV-321*
REF-R32255

ROTOR LOCKING PLATE FIT *WRV-
321* REF-R32434

ROTOR LOCKING PLATE FIT *WRV-
321+365* REF-R32555

LOCKNUT M45 FIT *WRVI-365*
ACTUATOR PISTON REF-VR36148-2

LOCKNUT M45 FIT *WRVI-365*
PISTON ROD TO SLIDE VALVE REF-
VR36149-2

SEARCH LCKKMO09 TUERCA
RANULADA AMARRE ROTORS FIT
*WRV-204-MK5* / LOCK NUT
COUPLING 45 MM RF-G39006

TUERCA RANULADA FIT *WRV-163*
/LOCKNUT 50 MM SLIDE VALVE AND
THRUST LOCKWIRE , THRUST
BEARING RETAINING REF-G39007

TUERCA RANULADA FIT *WRV-255*
/LOCKNUT 60 MM COUPLING REF-
G39009

TUERCA RANULADA FIT *WRV*
/LOCKNUT 65 MM THRUST
ASSEMBLY REF-G39010

TUERCA AMARRE ROTORS FIT *WRV-
255* REF-G39013

TUERCA RANULADA FIT *WRV-321*
/LOCKNUT 100 MM THRUST
ASSEMBLY REF-G39017

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

LCKSW40001

LCKSW4274

LCKSW4506

LCKSW4521

LCKSW4522

LCKSW4683

LCKSW49024

LCKSW5163

LCKSW60068

LOCK WASHER THRUST BEARING 100
MM FIT *WRV-321* REF-G40001

SEARCH LCKMB12 ARANDELA
SEGURIDAD SUJECION
ACOPLAMIENTO FIT *WRV-255* /
LOCK WASHER COUPLING 60 MM
REF-Q4274

SEARCH LCKMB17 ARANDELA
SEGURIDAD ROTOR MACHO +
HEMBRA FIT *WRV-255* / LOCK
WASHER TRHUST BEARINGS 85 MM
REF-Q4506

SEARCH LCKMB10 ARANDELA
ESTRIADA SEGURIDAD 50 MM FIT
*WRV-163-MK1* / LOCK WASHER
THRUST BEARINGS REF-
Q4521+R20085

SEARCH LCKMB09 ARANDELA
ESTRIADA SEGURIDAD D = 45 MM 13
PUAS / LOCK WASHER COUPLING FIT
*WRV-204-MK2+5* REF-Q4522

SEARCH LCKMB13 ARANDELA
ESTRIADA SEGURIDAD 65 MM 17
PUAS FIT *WRV+XRW-204-MK2*
LOCK WASHER THRUST BEARINGS
REF-Q4683

TUERCA RANULADA FIT *WRV*
/LOCKNUT 85 MM THRUST
ASSEMBLY REF-G49024

** SEARCH LCKMB08 ARANDELA
SEGURIDAD PISTON CORREDERA FIT
*WRV-204+255* 13 PUAS / LOCK
WASHER ACTUATOR PISTON 40 MM
REF-Q5163

OIL RETURN PIPE LOCK PLATE FIT
*WRV-204-MK2* REF-G60068

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

LCKSW72002

LNRSW204402

LNRSW255000

LNRSW255574

LNRSW255815

LNRSW255835

MCRSWO000

MCRSWO0O01

PIN5!16X1!12

PIN5!16X5!8

PINSW321013

PINSW34045

PINSW34060

PINSW36005

Description

LOCKING WIRE 1/32" X 2 METERS FIT
*WRV-163+204+255* REF-G72002

CAMISA PISTON BALANCEADOR FIT
*WRV-204-MK6* VI 3.6 LADO
ASPIRACION / INLET END SLEEVE
BALANCED PISTON REF-R20402

CAMISA PISTON BALANCEADOR FIT
*WRV-255* / SLEEVE BALANCED
PISTON REF-R25302

CAJERA ROTOR MACHO FIT *WRV-
255* REF-R25574

CAMISA ROTOR MACHO FIT *WRV-
255* REF-R25815

CAMISA ROTOR HEMBRA FIT *WRV-
255* REF-R25835

MICROSWITCH HOWDEN *XRV-
127+163+204* REF-G57057

POTENTIOMETER 1 KOHM FIT
HOWDEN *XRV-204* REF-XR16295-3

DOWEL PIN 5/16" X 1/2" FIT
HOWDEN *WRV-204+255* REF-
G34007

DOWEL PIN 5/16" X 5/8" FIT
HOWDEN *WRV-204-MK2+3+4* REF-
G34004

DOWEL PIN FIT *WRV-321* REF-
G36013

DOWEL PIN 1/4" FIT *WRV-163* REF-
G34045

SEARCH PINC6X10 DOWEL PIN 6X10
FIT *WRV-204* REF-G34060

DOWEL PIN JOURNAL BEARING FIT
*WRV-255* REF-G36005

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

PLUGM932

PSTSW204552

PSTSW204572

PSTSW204742

PSTSW255000

PSTSW255675

PSTSW255695

RNG594X57

RNGGM939

RNGSW163MK1

RNGSW25673

RNGSW32015

RNGSW32035

PACKING UNLOADER VALVE PLUG FIT
*VM-42* REF-120932

PISTON BALANCEADOR MACHO
LADO DESCARGA FIT *WRV-204-
MKo6* VI 3.6 / MALE OUTLET END
BALANCE PISTON REF-R20552

PISTON BALANCEADOR HEMBRA
LADO DESCARGA FIT *WRV-204-

MKo6* VI 3.6 / FEMALE OULET END
BALANCE PISTON REF-R20572

PISTON BALANCEADOR LADO
ASPIRACION FIT *WRV-204-MK6* VI
3.6 / INLET END BALANCE PISTON
REF-R20742

PISTON BALANCEADOR FIT *WRV-
255* / BALANCED PISTON REF-
R25232

PISTON ROTOR MACHO FIT *WRV-
255* REF-R25675

PISTON ROTOR HEMBRA FIT *WRV-
255* REF-R25695

JUNTA TORICA / O RING 594.0 X 5.7
REF-

O RING UNLOADER VALVE ROTOR FIT

HASEGAWA *VM-42* 120939

JUEGO DE JUNTAS TORICAS
HOWDEN FIT *WRV-163-MK1* / KIT
O RINGS REF-R16101-OK#

ACTUATOR STOP FIT *WRV-255/1.10*
REF-R25673

PTFE PISTON RING ACTUATOR FIT
*WRV-321* REF-R32015

PTFE CONNECTING TUBE RINGS FIT
*WRV-321* REF-R32035

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

RNGSW32055

RNGSW32274

RNGSW330

RNGSW44001

RNGSW44002

RNGSW44003

RNGSW44004

RNGSW44005

RNGSW44006

Description

PTFE PISTON ROD RING - GUIDE
BRACKET FIT *WRV-321* REF-R32055

PTFE SLEEVE FIT *WRV-321* REF-
R32274

SEARCH RNGO01330 - O RING
STATIONARY SHAFT SEAL FIT
HOWDEN *WRV-163* 53.34X5.33
NR330

SEARCH RNG70067 - JUNTA TORICA
TAPA LADO DESCARGA'Y SOPORTE
CENTRAL CORREDERA FIT *WRV-
163+204+255* +*SAB-163* / O RING
PISTON ROD GUIDE INNER & OULET
END CASING CU-56 50.4X3.53 N226
REF-G44001

JUNTA TORICA PISTON ACTUADOR
CORREDERA FIT *WRV-255* / O RING
PISTON 164.47X6.99 NR439 CU-57
REF-G44002+M6204385

SEARCH RNG70026 - JUNTA TORICA
TUBO INYECCION ACEITE
CORREDERA FIT *WRV-255-
1+2+3+4* / O RING INJECTION TUBE
31.34X3.53 NR218 CU-58 REF-G44003

SEARCH RNG98366 JUNTA TORICA
CILINDRO + TAPA CIERRE LADO
DESCARGA FIT *WRV-255MK4C* / O
RING ACTUATOR CYLINDER &
CYLINDER COVER 196.44X3.53 NR265
CU-60 REF-G44004

SEARCH RNG70013 - JUNTA TORICA
HUSILLO ACTUADOR CORREDERA FIT
*WRV-163+204+255+321*/ O RING
INDICATOR SPINDLE CU-82
12.37X2.62 NR112 REF-G44005

SEARCH RNGO05155 - O RING
ACTUATOR CYLINDER & CYLINDER
COVER FIT *WRV-163+204*
177.4X3.53 NR262 REF-G44006

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

RNGSW44007

RNGSW44008

RNGSW44010

RNGSW44013

RNGSW44017

RNGSW44020

RNGSW44021

RNGSW44022

Description

O RING ACTUATOR PISTON FIT
*WRV-204* 123.2X6.99 NR428 REF-
G44007+55-084-
0201+1331.2078+M6300428+M6200
428+2.35.955.3

JUNTA TORICA CUERPO Y LADO
ASPIRACION & DESCARGA FIT *WRV-
255* / O RING CASING & INLET +
OULET END COVER 608.08X5.33
NR393 CU-763 REF-
G44008+M6203925

O RING MAIN - INLET - OUTLET FIT
*WRV-204-MK-2* REF-G44010

JUNTA TORICA TAPA PRENSA + TAPA
REGISTRO ASPIRACION + LABERINTO
FIT *WRV-204+255* / O RING
BALANCE PISTON SLEEVE +
LABYRINTH SEAL & ROTOR COVERS
N° CU-973 REF-G44013

O RING OULET END JOURNAL
BEARING OLD FIT *WRV-204-MK2*
REF-G44017

JUNTA TORICA SOPORTE CENTRAL'Y
BLOQUE LADO DESCARGA FIT *WRV-
255* / O RING CYLINDER SPIGOT &
PISTON ROD GUIDE OUTER RING CU-
8033 158.12X6.99 NR438 REF-G44020
+M6204375+55-084-0211 +
1993.072

SEARCH RNG75606 - O RING INLET &
OUTLET END COVERS FIT *WRV-204-
COMMON* 506.81X5.33 NR389 REF-
G44021+M6203885+2.35.940.5

SEARCH RNG75590 - JUNTA TORICA
CAMISA PISTON LADO DESCARGA
FIT *WRV-255-MK1+2+3+4* / O
RING BALANCE PISTON 190.09X3.53
NR264 CU-8042 REF-G44022

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

RNGSW44027

RNGSW44030

RNGSW44031

RNGSW44032

RNGSW44033

RNGSW44034

RNGSW44038

RNGSW44041

RNGSW44046

RNGSW44047

RNGSW44048

RNGSW44049

Description

SEARCH RNG75675 - JUNTA TORICA
COJINETE MACHO + HEMBRA LADO
DESCARGA FIT *WRV-255-
MK1+2+3+4* / O RING JOURNAL
BEARINGS CU-8048 129.54X.5.33
NR354 REF-G44027

O RING ACTUATOR CYLINDER SPIGOT
FIT *\WRV-321* REF-G44030

O RING PISTON ROD GUIDE OUTER
RING - GUIDE BRACKET FIT *WRV-
204* REF-G44031

O RING OIL INJECTION PIPE FIT
*WRV-204-MK2* REF-G44032

SEARCH RNGO05142 - O RING
LABYRINTH SHAFT SEAL & ROTOR
COVER FIT *WRV-204-
MK2+3+4+5+6* 129.77X3.53 NR251
REF-G44033

SEARCH RNG72068 - JUNTA TORICA
BRIDA TUBO INYECCION ACEITE
CORREDERA FIT *WRV-204+255* / O
RING INJECTION PIPE 53.57X3.53
NR227 CU-9830 REF-
G44034+1331.290

O RING ACTUATOR PISTON FIT
*WRV-321* REF-G44038

O RING FIT *WRV-321* REF-G44041

O RING SEAL COVER - ROTOR
COVERS FIT *WRV-321* REF-G44046

O RING OLD BEARINGS FIT *WRV-
321* REF-G44047

O RING PISTON ROD - CYLINDER
BORE FIT *WRV-321* REF-G44048

O RING ACTUATOR CYLINDER - END
COVER FIT *WRV-321* REF-G44049

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

RNGSW44050

RNGSW44051

RNGSW44052

RNGSW44054

RNGSW44055

RNGSW44059

RNGSW44065

RNGSW44066

RNGSW44070

RNGSW44071

RNGSW44072

Description

O RING BALANCE PISTON SLEEVE FIT
*WRV-321-MK6+365-MK1* REF-
G44050

O RING MAIN CASING - INLET -
OUTLET FIT *WRV-321* REF-G44051

SEARCH RNGO05224 - O RING MAIN
INLET - OUTLET END COVERS FIT
*WRV-163* 405.26X5.33 NR385 REF-
G44052+M6200242

SEARCH RNG75575 - O RING FEMALE
ROTOR COVER & SHAFT SEAL COVER
FIT *WRV-163* 101.19X3.53 NR242
REF-G44054+1331.083+M6200347

SEARCH RNG70081 - O RING PISTON
ROD GUIDE - OUTER RING FIT *WRV-
163* 98.02X3.53 NR241 REF-
G44055+M6203848+372.021-18

O RING G BOX COVER FIT *XRV-127*
REF-G44059

JUNTA TORICA MAIN OUTLET FIT
HOWDEN *XRV-163+204* /O-RING
330.0X7.0 REF-G44065+M6200455

O RING INLET MAIN OUTLET FIT
HODEN *XRV-204* REF-G44066

SEARCH RNG75586 - O RING SHAFT
SEAL COVER FIT *WRV-255*
151.99X3.53 NR258 REF-G44070

SEARCH RNGSS439 - O RING ROTOR
COVER & SHAF SEAL FIT *WRV-204-
MK5+6* ONLY 133.0X3.0 NR515 REF:
G44071

SEARCH RNGSS437 O RING VI
ADJUSTER DIA + CYLINDER SPIGOT
FIT *\WRV-204+321*+GRASSO
SCREW* 125.0X3.0 NR612 REF-
G44072+762925090

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

RNGSW44073

RNGSW44074

RNGSW44075

RNGSW44076

RNGSW44079

RNGSW6000269

RNGSW6003962

RNGSW6005953

RNGSW6009453

RNGSW6011453

RNGSW6022625

RNGSW6026935

RNGSW6031935

RNGSW6035935

Description

JUNTA TORICA FIT *WRV-204* / O
RING CYLINDER DIA. 164.0X3.0 REF-
G44073+M6216453+M6316453

JUNTA TORICA FIT *WRV-204* /O
RING CYLINDER FACE 184.5X3.0 REF-
G44074+M6218453+M6318453

SEARCH RNG75591 - O RING
ACTUATOR CYLINDER FIT *WRV-255*
202.79X3.53 NR266 REF-G44075

O RING G BOX MAIN FIT *XRV-127*
REF-G44076

O RING CORE HOLE COVER, BOTT FIT
*WRV-365* REF-G44079

SEARCH RNG75592 - O RING
CYLINDER FLANGE FIT *WRV-255-
MK6* 215.49X3.53 NR268 REF-
M6000269

O RING VI ADJUSTER FACE FIT *WRV-
321* REF-M6003962

O RING ADJUSTING SCREW FIT
*WRV-365-MK1* REF-M6005953

O RING COVER FIT *WRV-255-MK6*
194.0X3.0 REF-M6009453

SEARCH RNGSS435 - O RING VI-
COVER FIT *WRV-365-MK1* 114.5X3
NR268 REF-M6011453

JUNTA TORICA FIT *WRV-365* /O
RING CYLIDER SPIGOT REF-M6022625

JUNTA TORICA FIT *WRV-321* /O
RING ACTUATOR CYLINDER DIA REF-
M6026935

JUNTA TORICA FIT *WRV-365* /O
RING CYLIDER SPIGOT REF-M6031935

JUNTA TORICA FIT *WRV-365* /O
RING ACTUATOR CYLINDER REF-

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

RNGSW6089168

RNGSW6200261

RNGSWX12105

RNGSWX12106

RNGSWX12107

RNGSWX12109

RNGSWX12110

RNGSWX12112

RNGSWX16102

RNGSWX16105

RNGSWX16106

RNGSWX16460

M6035935

JUNTA TORICA FIT *WRV-365* /O
RING MAIN CASING COVERS REF-
M6089168

O RING ACTUATOR PISTON VITON FIT
*WRV-163-MK1* 107.31X6.99 NR762
REF-M6200261

JUNTA TORICA FIT *XRV-127* / O
RING SHAFT SEAL HSG REF-XR12105-
3

JUNTA TORICA FIT *XRV-127* / O
RING COVERS REF-XR12106-3

JUNTA TORICA FIT *XRV-127* / O
RING GAS SEAL REF-XR12107-3

JUNTA TORICA FIT *XRV-127* / O
RING MAN. VI SPINDLE REF-
XR12109-3

JUNTA TORICA FIT *XRV-127* / O
RING SHAFT SEAL HSG REF-XR12110-
3

JUNTA TORICA FIT *XRV-
127*+*KWS365* / O RING MAIN
OUTLET +SEAL HOUSING REF-
XR12112-3

O RING PISTON/SLIDE VALVE FIT
HOWDEN *XRV-127+163* 30.3X2.4
NR290 REF-XR16102-3+M6202962

SEARCH RNGSS435 -O RING VI ADJ.
COVER /SEAL HOUSE FIT HOWDEN
*XRV-163+204* 114.5X3.0 REF-
XR16105-3

O RING INLET BEARING FIT HOWDEN
*XRV-163* 122.0X3.0 NBR-70 REF-
XR16106-3+M6211953

O RING VI COVER FIT HOWDEN
*XRV-163* GRASSO 95.0X3.0 NBR-70

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

RNGSWX20100

RNGSWX20102

RNGSWX20104

RNGSWX20105

RNGSWX20237

RTNSW16164

RTNSW163

RTNSW20065

RTNSW204

RTNSW25125

RTNSW25145

REF-XR16460-3+M6209453 +
762925528N

O RING SLIDE VALVE PISTON FIT
HOWDEN *XRV-204* REF-XR20100-3

O RING GAS SEAL FIT HOWDEN
*XRV-204* REF-XR20102-3

O RING SHAFT SEAL COVERS FIT
HOWDEN *XRV-204* REF-XR20104-3

O RING INLET BEARING FIT HOWDEN
*XRV-204* REF-XR20105-3

JUNTA TORICA FIT HOWDEN *XRV-
204* / O RING MANUAL VI
ADJUSTEMENT REF-XR20237-3

SEARCH RTNSW163 PTFE RING
ACTUATOR SPINDLE PISTON FIT
*WRV-163-MK1-G* REF-R16164

RETEN TEFLON PISTON ACTUADOR
CORREDERA FIT *WRV-163* / PTFE
RING ACTUATOR PISTON DIAMETER
120X116.3X6.80 R16164

RETEN PTFE FIT *WRV-163+204+255*
/ TEFLON PISTON RING 138X134X9.4
REF-R20065

SEARCH RTNSW20065 RETEN TEFLON
PISTON ACTUADOR CORREDERA FIT
*WRV-204* / PTFE RING ACTUATOR
PISTON DIAMETER 138X134X9.4
R20065

RETEN TEFLON PISTON ACTUADOR
CORREDERA FIT *WRV-255* / PTFE
RING ACTUATOR PISTON
170X174X9.3 REF-R25125

RETEN TEFLON HUSILLO ACTUADOR
CORREDERA FIT *WRV-
163+204+255* / PTFE RING
ACTUATOR PISTON ROD GUIDE -

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

Description

Compressor

RTNSW25205

SELSC163MKT

SELSW163MK1

SELSW163MK1G

SELSW163MK1GX

SELSW163MK10LD

SELSW163MK1_X

SELSW163MK50LD

GUIDE BRACKET 50 MM
51.4X47.4X4.45 REF-R25145

JUNTA TEFLON TUBO ACEITE
CORREDERA FIT *WRV-204+255* /
PTFE CONNECTING TUBE RING &
SLEEVE INJECTION TUBE
28.4X32.4X4.4 R25205

SERVICE KIT REPLACEMENT SHAFT
SEAL FIT *MK1/WCVH163* P/N:

KIT SELLO PRENSA FIT *WRV-163-
MK1 ASIENTO FIJO 2 PIEZAS /
SERVICE KIT REPLACEMENT SHAFT
SEAL FIT *WRV-163-MK1 + *XRV-
163* STATIONARY TYPE "F"
COMMON REF-KWS163 + G60205#

***SEARCH SELSW163MK ***KIT
SELLO PRENSA FIT *WRV-163-MK1-
G+XRV163* ASIENTO FIJO 2 PIEZAS /
SERVICE KIT REPLACEMENT SHAFT
SEAL STATIONARY TYPE *F* DEEP 24.3
KWS163-1G + G60235

***SEARCH SELSW163MK *** SELLO
PRENSA FIT *WRV-163-MK1-G
ASIENTO FIJO 2 PIEZAS / INPUT
SHAFT SEAL STATIONARY TYPE *F*
G60235

***SEARCH SELSW163MK ***SELLO
PRENSA FIT *WRV-163-MK1-OLD* /
INPUT SHAFT SEALD = 2"
STATIONARY TYPE "A - OLD" H = 24
MM REF-G60113

SELLO PRENSA FIT *WRV-163-
MKTA+F* + *XRV-163* D= 44.50 /
50.8 MM / INPUT SHAFT SEAL
ROTARY 2"- STATIONARY RING TYPE
"F"'H = 24 MM G60205#

***SEARCH SELSW163MK *** SELLO
PRENSA FIT *WRV-163-MK5-OLD* +
FRICK TDSH 163L / INPUT SHAFT

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

@ @ SELSW204MK234

SELSW204MK234X
SELSW204MK5
SELSW204MK5X
SELSW204MK6

SELSW204MK6X

SELSW255

SEAL " STATIONARY TYPE "B - OLD"
REF-KSW163-1G

KIT SELLO PRENSA+JUNTA FIT *WRV-
204+MK2+3+4* + STAL S50 60.30
MM / REPLACEMENT SHAFT SEAL 2-
3/8" STATIONARY TYPE *E*
73X79X95X54X26.1 KWS204-
2/3/4+G60056 + 3922 1610 823 +
3087.009

SELLO PRENSA FIT *WRV-
204+MK1+2+3+4* 12 MUELLES /
INPUT SHAFT SEAL 2-3/8"
STATIONARY RING TYPE *E* TEFLON
RING DEEP 26.7 MM G60056

KIT SELLO PRENSA+JUNTA FIT *WRV-
204-MK5-5E* / KIT REPLACEMENT
SHAFT SEAL + O-RING COVER
STATIONARY TYPE *B* 73X54X13.50
MM KWS204-5 + G60179

SELLO PRENSA HOWDEN FIT *WRV-
204-MK5-5E* 60.30 MM
ESTACIONARIA TIPO *B* / SHAFT
SEAL 2 3/8" STATIONARI TYPE B 13.5
MM REF-G60179

KIT SELLO PRENSA HOWDEN TIPO
*WRV-204-MK6+6A+ XRV-204
TODOS* 60.30 MMM / REPLACEMENT
SHAFT SEAL 2-3/8" - STATIONARY
TYPE "F" H = 27 MM KWS204 +
G60236#

SELLO PRENSA HOWDEN FIT *WRV-
204-MK6+6A+205* 60.30 MM /
SHAFT SEAL 2-3/8" - STATIONARY
TYPE "F" H = MM G60236#

KIT SELLO PRENSA FIT *WRV-255-
MK1+5* 73.05 MM / REPLACEMENT
SHAFT SEAL 2 7/8" STATIONARY TYPE
"E" 2PIECES+2 O-RINGS DEEP 35 MM
KWS255-4

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

SELSW255MK4BOLD

SELSW255MK4COLD

SELSW255MK4E

SELSW255MKA4E.

SELSW255MK4G#

SELSW255MK5

SELSW255MK6

SELSW255MK6X

SELSW255X

SELLO PRENSA FIT *WRV-255-MK4B*
73.03 MM + JUNTA TEFLON/ SHAFT
SEAL 2-7/8" STATIONARY TYPE "A
OLD* 26.7 MM + TEFLON RING 80X8
MM

SELLO PRENSA FIT *WRV-255-MK4C*
73.05 MM / SHAFT SEAL 2-7/8"
STATIONARY TYPE "A" 34 MM REF-
G60055

SHAFT SEAL FIT *WRV-255-MK4E*
REF-G60198

KIT REPLACEMENT SHAFT SEAL + O-
RING FIT *WRV-255-MK4-E* REF-
KWST255

SEARCH SELSW255X - SELLO PRENSA
FIT *WRV-255-MK4G* 73.05 MM /
SHAFT SEAL 2-7/8" NEW STATIONARY
TYPE "A-NEW" 35 MM REF- G60206

SEARCH SELSW255 KIT
REPLACEMENT SHAFT SEAL + O-
RING FIT *WRV-255-MK5-*
STATIONARY TAPER TYPE "E" REF-
KWS255-5

KIT REPLACEMENT SHAFT SEAL + O-
RING FIT *WRV-255-MK6-*
STATIONARY TAPER TYPE "F-NEW" H
= 32 MM REF-KWS255-6#

SELLO PRENSA FIT *WRV-255-
MK6+V* ESTACIONARIA CONICA /
INPUT SHAFT SEALD =2 7/8"
STATIONARY TAPER TYPE "F-NEW" 32
MM DEEEP REF-G60238 + 0215022-6
+ KWS255-6#

SELLO PRENSA FIT *WRV-255-
MK1+2+3+4-F+G+MK5* 73.05 MM /
SHAFT SEAL 2 7/8" STATIONARY TYPE
"E" H = MM G60206

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

SELSW321MK45

SELSW321MK4EF_5

SELSW321MK6

SELSW321MK6X

SELSW365MK1

SELSWX127

SELSWX127A

SELSWX163

SELSWX163MK2ABCD

SELSX204

SELWTO042

SELWTO50

Description

INPUT SHAFT SEAL FIT *WRV-321-
MK-4+4E+4F+5* D = 3 5/8" REF-
G60207

KIT REPLACEMENT SHAFT SEAL + O-
RING FIT *WRV-321-MK4+4E+4F+5*
REF-KWS321

KIT REPLACEMENT SHAFT SEAL + O-
RING FIT *WRV-321-MK6* REF-
KWS321-6

SELLO PRENSA FIT *WRV-321-MK6* /
SHAFT SEAL REF-G60239-N

KIT REPLACEMENT SHAFT SEAL + O-
RING FIT *WRV-365-MK1* REF-
KWS365

SELLO PRENSA HOWDEN *XRV-127-
MK1+4-R3+4+5* / SHAFT SEAL KIT D
=50 MM H = 19 MM XR12124-3

SELLO PRENSA HOWDEN *XRV-127-
MK2A* / SHAFT SEALKIT D = 45 MM

SELLO PRENSA HOWDEN FIT *XRV-
163-MK1A* D = 44.50 / 50.8 MM /
SHAFT SEAL ASSY - ROTARY L = 45
MM - STATIONARY RING L = 24 MM

SERVICE KIT REPLACEMENT SHAFT
SEAL FIT *XRV-163-MK2-A+B+C+D*
REF-KXS163 (G60205) #

REPLACEMENT SHAFT SEAL KIT FIT
*XRV-204-MK-1+4* KS204

CIERRE MECANICO BOMBA FIT WITT
*GP-40-41+42* / SHAFT SEAL ASSY.
21.3X30 2161.002201

SELLO PRENSA BOMBA ACEITE FIT
WITT *GP-50+51+52* / SHAFT SEAL
OIL PUMP WITT 27.6X35 D52070 +
2161.002401

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



O 0 0 O

O

Ralco P/N

SETGMO010

SETSW163F

SETSW204B

SETSW204E

SETSW204F

SETSW255E

SETSW255F

SKTSW163_MK1

SKTSW163MK1A+F

Description

DISCHARGE VALVE OUTER
HASEGAWA FIT *RVM* 120245

ASIENTO ESTACIONARIA CARBURO
DE SILICIO FIT HOWDEN *WRV-163-
MK-1-G* / STATIC SEAL SILICIUM
CARBIDE SHAFT SEAL 63X44.5X24
WITH 2 O-RINGS

ASIENTO ESTACIONARIA CARBURO
DE SILICIO FIT HOWDEN *WRV-204-
MK5+5E* / STATIC SEAL SILICIUM
CARBIDE SHAFT SEAL 73X54X13.5
WITH 1 O-RINGS

ASIENTO ESTACIONARIA CARBURO
DE SILICIO FIT HOWDEN *WRV-204-
MK4* / STATIC SEAL SILICIUM
CARBIDE SHAFT SEAL X X WITH 2 O-
RINGS

ASIENTO ESTACIONARIA CARBURO
DE SILICIO FIT HOWDEN *WRV-204-
MK6 + XRV-204 TODOS* / STATIC
SEAL SILICIUM CARBIDE SHAFT SEAL
73X54X27 WITH 2 O-RINGS

ASIENTO ESTACIONARIA CARBURO
DE SILICIO FIT HOWDEN *WRV-255-
MK1+5* / STATIC SEAL SILICIUM
CARBIDE SHAFT SEAL 107.8 X 66.7 X
34 WITH 2 O-RINGS

ASIENTO ESTACIONARIA CARBURO
DE SILICIO FIT HOWDEN *WRV-255-
MK6* / STATIC SEAL SILICIUM
CARBIDE SHAFT SEAL 91.5 X 66.7 X 32
WITH 2 O-RINGS

KIT REVISION 50.000 HOURS FIT
*HOWDEN MK1A+F+1G WRV(H)-163
/ 145 & 180 * RECOMENDED SPARE
PARTS FOR OVERHAUL NO P/N#

**SEARCH SKTSW163MK1** MK1A+F
WRV(H)-163 / 145 & 180

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

SKTSW163MK1G

SKTSW204MK2

SKTSW204MK3+4B

SKTSW204MK5

SKTSW204MK5+5E

SKTSW204MK6

SKTSW204MK6F

SKTSW255MK1+4F

SKTSW255MK4+E

SKTSW255MK4G

RECOMENDED SPARE PARTS FOR
OVERHAUL NO P/N#

**SEARCH SKTSW163MK1** MK1G
WRV(H)-163 / 145 & 180
RECOMENDED SPARE PARTS FOR
OVERHAUL NO P/N#

MK2A+H WRV(H)-204 / 110 & 165
RECOMENDED SPARE PARTS FOR
OVERHAUL NO P/N

MK3+4 & 4B WRV(H)-204 / 110 &
165 RECOMENDED SPARE PARTS FOR
OVERHAUL NO P/N#

MK5 WRV(H)-204 / 110+145+165 &
193 RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

SEARCH SKTSW204MK5 MK5 & 5E
WRV(H)-204 / 110+145+165 & 193
RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

MK6 & 6A WRV(H)-204 /
110+145+165 & 193
RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

SEARCH SKTSW204MK6 MK6F
WRV(H)-204 / 110+145+165 & 193
RECOMMENDED SPARE PARTS
OVERHAUL 50.000 H NO P/N#

MK1+4F WRV(H)-255 /
110+130+145+165+193 & 220
RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

MK4+4E-5 WRVT-255 /
110+130+145+165+193 & 220
RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

MK4G WRV(H)-255 /
110+130+145+165+193 & 220

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N Description Compressor

RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

SKTSW255MK5 MK5 WRV(H)-255 /
110+130+145+165+193 & 220
RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

HOWDEN

SKTSW255MK6 MK6 WRV(I)-255 /
110+130+145+165+193 & 220
RECOMMENDED SPARE PARTS
OVERHAUL NO P/N#

HOWDEN

SKTSW321MK4+4E MK4+4E WRVT-321/132+165+193
& 220 RECOMMENDED SPARE PARTS HOWDEN
OVERHAUL NO P/N

SKTSW321MK4 +4F MK4+4F WRV(H)-321 / 132+165+193
& 220 RECOMMENDED SPARE PARTS HOWDEN
OVERHAUL NO P/N

SKTSW321MK5 MK5 WRV(H)-321 / 132+165+193 &
220 RECOMMENDED SPARE PARTS HOWDEN
OVERHAUL NO P/N

SKTSW321MK6 MK6 WRV(H)-321 / 132+165+193 &
220 RECOMMENDED SPARE PARTS HOWDEN
OVERHAUL NO P/N

SKTSW365MK1 MK1 WRVI(H)-365 ALL L/D,S
RECOMMENDED SPARE PARTS HOWDEN
OVERHAUL NO P/N

SNPEXO011 ANILLO SAEGER FIT *WRV-255-MK6*/
EXTERNAL RETAINING RING CIRCLIP -
SNAP RING E-11 0660 DIN-471 A11
SAE-1060-1090 REF-G60086

HOWDEN

SNPEX012 ANILLO SAEGER RETENCION
EXTERIOR RODAMIENTO BOLAS
CORREDERA FIT
*WRV +XRV*+STAL*R-5* /EXTERNAL
RETAINING RING-SNAP RING-CIRCLIP
ACTUATOR SPINDLE E-12 CU-83
A12X1 DIN-471 REF-G60004+3921
5455 114

HOWDEN




Ralco P/N

Description

Compressor

SNPIX038

SNPIX095

SNPIX125

SNPIX165

SNPSW1240

SNPSW2060

SNPSW60006

SNPSW60017

SNPSW60070

ANILLO RETENCION INTERIOR
RODAMIENTO BOLAS CORREDERA
FIT *WRV+XRV-163* +*T/HC-100*/
TERNAL RETAINING RING-SNAP
RING-CIRCLIP ACTUATOR SPINDLE
INNER 1-38 J38 DIN-472 CU-84 REF-
G60005+42-314-1029

ANILLO SAEGER FIT *WRV-
1963+0OSN*/ INTERNAL RETAINING
RING-SNAP RING-CIRCLIP METRIC
DIN -472-95X3 1-95 REF-
G60114+382.231-15

INTERNAL RETAININGRING-SNAP
RING-CIRCLIP FIT *WRV-204-MK6*
[125X4 J125 DIN-472 REF-
G60178+1437.171+3921 5460 172

ANILLO RETENCION COJINETES LADO
DESCARGA + ROTOR HEMBRA
ASPIRACION FIT *WRV-255* /
INTERNAL RETAINING RING - CIRCLIP
- SNAP RING JOURNAL BEARINGS
CU-8052 DIN-472 1165X4 REF-G60009

CIRCLIP-INTERNAL JOURNAL
BEARING FIT *WRV-365-MK1* REF-
M6601240

CIRCLIP-EXTERNAL VI ADJUSTER FIT
*WRV-365-MK1* REF-M6602060

ANILLO RETENCION INTERIOR
RODAMIENTO BOLAS CORREDERA
FIT *WRV-204-MK2* TRUARC
RETAINING RING |.E. JOURNAL
BEARINGS G60006

RETAINING RING CIRCLIP - SNAP
RING FIT *WRV-204* REF-G60017

RETAINING RING CIRCLIP - SNAP
RING FEMALE I. E. JOURNAL BEARING
FIT *WRV-321* REF-G60070

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

Description

Compressor

SNPSW60071

SNPSW60086

SNPSW60114

SNPSW6602040

SPCSW25054

SPGSWO000

SPGSWX060

SPGSWX080

SPGW13

SPGW22

SPGWS5!8

SRGSW127

RETAINING RING CIRCLIP - SNAP
RING O. E. JOURNAL BEARING FIT
*WRV-321* REF-G60071

CIRCLIP - SNAP RING VI ADJUSTER
FIT *\WRV-255* REF-G60086

*** SEARCH SNPIX095 *** RETAINING
RING - SNAP RING JOURNAL
BEARINGS FIT *WRV-163* REF-
G60114

SNAP RING - CIRCLIP VI ADJUSTER
FIT *WRV-321* REF-M6602040

ESPACIADOR LABERINTO FIT *WRV-
255* REF-R25054

MUELLE SELLO PRENSA COMUN FIT
*HOWDEN* / SPRING SHAFT SEAL
NO P/N

DISC SPRING FIT HOWDEN *XRV-
204* REF-XR20060-2

DISC SPRING FIT HOWDEN *XRV-
163* REF-XR16080-2

ACERO INOXIDABLE FIT *WRV-163* /
SPLIT SPRING WASHER 1/2"
22.7X13.0X4 M013 DIN127B REF-
G31012

ACERO INOXIDABLE FIT *WRV-321*
/SPLIT SPRING WASHER 7/8"
35.9X22.5X4 M022 DIN127B REF-
G31011

SEARCH SPGW16 - SPRING WASHER
5/8" FIT *\WRV-204+255 REF-
G31003+G31015

SEARCH SRG70124 - SEALING RING
PISTONE CAPACITA COMPRESSORE
HOWDEN FIT *XRV127*
88.89X82.7X4.3 PTFE REF- XR12059-3

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN




Ralco P/N

SRGSW163

SRGSW204

SRNSW

SRNSW127

SSTSC163_1

SSTSW163MK1

SSTSW204_4

SSTSW204_6

SSTSW204MK2

SSTSW204MK34

SSTSW204MK5

SSTSW204MK6

SSTSW255_6

Description

SEALING RING HOWDEN FIT *WRV-
163+XRV-163* 120X113X4.5 REF-
XR16079-3

SEALING RING HOWDEN FIT *XRV-
204* 150X140.8X6.35 XR20875-3

FILTRO ACEITE R-22 10 MICRAS

FILTRO ASPIRACION HOWDEN FIT
*XRV-127* / SUCTION STRAINER
XR12204-2 - GENUINE PARTS

KIT REVISION 50.000 HOURS
HOWDEN FIT *MK1/WCVH163*

KIT ANNUAL INSPECTION - GASKETS
+ O-RINGS FIT *WRV-163-MK1-
A+F+G* REF-KW163-1#

SEARCH SKTSW204MK3+4B KIT
REVISION 50.000 HOURS HOWDEN
FIT *WRV-204-MK4*

SEARCH SKTSW204MK6 KIT REVISION
50.000 HOURS HOWDEN FIT *WRV-
204-MKo6*

KIT ANNUAL INSPECTION - GASKETS
+ O-RINGS FIT *WRV-204-MK2-A+H*
REF-KW204-2#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV-204-MK3+4B* REF-
KW204-3-4B#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRVH-204-MK5-5E*
REF-KW204-5+KWS204-5-V#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *\WRVH-204-MK6-F* REF-
KW204-6+KW?204-6-F#

** NO VALE VER SKTSW255MK6 // KIT
REVISION 50.000 HOURS HOWDEN

Compressor

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

SSTSW255_MK1+4

SSTSW255MK14F

SSTSW255MK4E5

SSTSW255MK4G

SSTSW255MK5

SSTSW255MKe6

SSTSW321MK14F

SSTSW321MKA4E

SSTSW321MKA4F

SSTSW321MK5

SSTSW321MK5VT

SSTSW321MK6

FIT *WRV-255-MK6A +B*

***NO VALE VER SKTSW255 _MK1-4F
KIT REVISION 50.000 HOURS
HOWDEN FIT *WRV-255-MK1+4-F

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV-255-
MK1+2+3+4F* REF-KW25514F#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV-255-
MK4+4E+WRVT-MK5* REF-KWT255-
4-5#

KIT ANNUAL INSPECTION - GASKET +
O-RING + PTFE RINGS FIT HOWDEN
*WRV-255-MKA4G#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV-255-MK5* REF-
KW255-5#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV-255-MK6* REF-
KW255-6#

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV(H)-321-MK1+4F*
KW321-4

KIT ANNUAL INSPECTION - GASKET +
O-RINGS FIT *WRV-321-MK4+4E*
REF-KWT321-4

KIT ANNUAL INSPECTION -GASKET +
O-RING FIT *WRV-321-MK4+4F* REF-
KW321-4

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRV-321-MK5* REF-
KW321-5

KIT ANNUAL INSPECTION - GASKET +
O-RING FIT *WRVT-321-MK5* REF-
KWT321-5

KIT ANNUAL INSPECTION -GASKET +
O-RING FIT *WRV-321-MK6* REF-

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N

Description

Compressor

SSTSW365MK1

SSTSX127MK1+3

SSTSX163

SSTSX204

WASSW1010

WASSW1012

WASSW1016

WASSW1020

WASSW1024

WASSW20155

WASSW2016

WASSW2024

WASSW25135

WASSW31002

KW321-6

KIT ANNUAL INSPECTION -GASKET +
O-RING FIT *WRV-365-MK1* REF-
KW365

KIT REVISION 50.000 HOURS
HOWDEN FIT *XRV127-R3+5-MK1-3
REF-KXG-127-2

KIT REVISION HOWDEN FIT *XRV-
163* / OVERHAUL KIT KX163

KIT REVISION HOWDEN FIT *XRV204-
MK-4* / OVERHAUL KIT KX-204

WASHER 10 MM FIT *XRV-163*
M1701010

WASHER 12 MM FIT *XRV-204*
M1701012

WASHER 16 MM FIT *XRV-163+204*
M1701016

WASHER 20 MM FIT *XRV-163+204*
M1701020

PLAIN WASHER M-24 FIT *\WRV-365*
REF-M0701024

SEARCH LCKNL16 - ARANDELA
NORLOCK FIT *WRV-204MK234* /
ADJUSTING WASHER M16 REF-
R20155

SEARCH SPGW16 / SPRING WASHER
D = 16 MM 5/8" REF-M0702016 -
G31003

SPRING WASHER M-24 FIT *WRV-
321* REF-M0702024

ARANDELA CORTADA AJUSTE AXIAL
FIT *\WRV-255* / ADJUSTING WASHER
THRUST BEARINGS REF-R25135

SEARCH SPGW13 SPRING WASHER

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN

HOWDEN



Ralco P/N Description Compressor

1/2" FIT *\WRV-163* REF-G31012

WASSW31011 SEARCH SPGW22 SPRING WASHER

HOWDEN
7/8" FIT *\WRV-321* REF-G31011

WASSW31015 SEARCH SPGW16 SPRING WASHER
M-16 FIT *WRV-204-MK5+6* REF-
G31015

HOWDEN

WASSW32009 ARANDELA ALETA SOPORTE
RODAMIENTOS EMPUJE FIT *WRV-
204+255+321* / STRAIGHT TAB
WASHER 3/8" CU-8076 REF-G32009

HOWDEN

WASSW32013 ARANDELA ALETA SOPORTE
RODAMIENTOS FIT *WRV-255+321* /
STRAIGHT TAB WASHER 5/8" CU-
8035 REF-G32013

HOWDEN

WASSW32014 ARANDELA ALETA SOPORTE
CENTRAL HUSILLO ACTUADOR
*WRV-204+255+321* / STRAIGHT HOWDEN
TAB WASHER 1/2" FIT CU-8062 REF-
G32014

WASSW32020 ARANDELA ALETA PISTON
CORREDERA FIT *WRV-321* /
STRAIGHT TAB WASHER 3/4" REF-
G32020

HOWDEN

WASSW32175 ADJUSTING WASHER THRUST
BEARINGS FIT *WRV-321+365* REF- HOWDEN
R32175

WASSW4020 STRAIGHT TAB WASHER M-20 FIT

HOWDEN
*WRV-321* M0704020

CONTACT
I c/Almirall Proixida, 14-16
Bjos E-08030 Barcelona (Spain)

Leader in aftermarket spare parts for @ www.ralcoeuropa.com

refrigerating compressors in the % ralco@ralcoeuropa.com
European market for more than 30 Qe (+34) 932.745.270

‘ i RALCO EUROPA S.L.

years.

(O WhatsApp


https://www.ralcoeuropa.com/
mailto:ralco@ralcoeuropa.com
https://wa.me/34631409909?text=Hello,

Q  Need help? EQEH




